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1. Let P be the chance a coin lands head. Sup-
pose the prior distribution of P is fp(p) =
c(1 — p)tfor 0 < p < 1 for some constant
c. Which of the following is true:

a P ~ Beta(1,4)

c B(P) =+

d more than one of the above

For there to be no x term and for 1-x to be of power
4, r must be 1 and s must be 5. Therefore b is the
only option.
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(Exponential distributions) You are first in line to have your question answered by either of the
2 uGSlIs, Brian and Yiming, who are busy with their current students. Your question will be
answered as soon as the first uGSI finishes. The times spent with student by Brian and Yiming
are independent and exponentially distributed with (positive) rates Ap and Ay respectively, i.e.
Brian’s distribution is Exponential(Ag), and Yiming’s is Exponential(\y).

(a) Find the probability that Yiming will be the one answering your questions.

Y =
P(yes oy

(b) What is the distribution of your wait time? Your answer should not include integrals.
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1. You are first in line to have your question
answered by either of the 3 uGSI Yiming,
Brian and Rowan, whose wait time to be
seen, Y, B and R, are independent and ex-
ponentially distributed RVs with rates Ay, A,
and Ag respectively. P(Y < B < R) is?

Ay +Ap
Ay +Ap+AR

v+AB+AR AB+AR
Ay A\B
C)\y+)\B x)\B—i—)\R

d none of the above
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